T"ywn 'K "00N0 'K TVIN
05/02/14

D'XP'VO'VVOT NINANONYT XIANA N1'NA
["ow1aN Mi7w "T Axnn

JIyw 3 :N1'nan (wn

['2 N7R D'OT 1AYN7 'R LIFTTY Awn 2mdn TNR A4 QT2 wnnwin? Tnn 7% anin
.0 TMn

.0'2 AUNN1 YNnwn'? 1nin

JI7RWUN D 2y itk 3 W nrrma

.D'9'YON |2 NITIZIN 7Y NIY 17N U R7RY 751 .AN7'NNA DI n7RY 7D 7pwn
. min{N ,100} 'y 72 nimiza N faixn i 110 750 102 1ax? |na

771 NI'NAN NNANN 7Y (T 7w TNXR TX ) [IWRIN TINYN IR N'IRYN,NIX
I D> NIwnN NX 1jma

I nn7¥n2

(nmm,m40) 1awv

JTAR 700121 07100 DT 3 1AW O DT 4 NNTRn K77 NRNIN N7'X

JTAR PN AT 02100 DI 3 1AW TOn DI 4 DTN DY NR'NIN N19T

NX DX IR N1 .019TE N7'X 2N NNKR 21'T2 79 DTN NIRYIN DNTO NIX NRIN IR
SX¥N 7 DY '1D'02 NNTONN NNX 'O

AR YT -0 DRXINA 71N T N7AR7 oMo TR X, e

9T 7W 1 -0 ARXINA 71IND T N7AR7 D0 TR Y, 1

.1 =N NRXINA 71N 21T QRN IRY DY DI0R TR Z; 1Y

NMTO MR NRN IR DXL | D% Z; = X, TR ,N7'R 7¥ NIRXINN NNTO NX IR X DX D
A% Z, =Y, ™8 ,MOT 7w nIRXINN

? P(X,=1X,=1) nn X

? P(X,=1Z,=1)1m 2

00T v E(X, + X, + X, +X,) Ixkxn .2

(mnmnmanon? xnnudn ) ? P(Z,+2,=2(Z,+Z,=0) 1 I




(nmm,m40) 2a'xv

X~ Bin(S,ij ht
2

.NINYN 7¥ NIV 2IW'N7 XNOINA WIn'Y -7y E(X 2) awn

.NINYN 7Y NRNIY 21IW'NY% XNOIN2 win'y X77 ,NINK 0T E(X 2) nwn
? P(X2E(X))1nm 2 P(X >E(X))nn

? P(X® 2 E(X®)) 1nn

4 1 IV IX

(nmmn30) 3 awxv

Y ~U[L3] , X ~U[L4]

D" M nn X,Y wnmarguoa

? P(Y > X) 1nn

0" M7 on X,Y ¥ NNt 9'vol oa

? P(X+Y =6) 1nn

Q7N 'R 7w DNin 'R DT q'voa

? P(Y > X)=a o"pna% 715' e “m'oonn a -n 1nn

nn'p X7 N, P(Y > X): awPY 1 X U noniun NA7sNN Uy XN NIdN )
(PY>X)>a w7y Y 1 X 29 noniwn nia7onn

'

X

2

1




